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5

OMR SHi-¥i(2 (3182 ¥i2) =1 WM F10 599 TH F1 o@yrt 7 51900 08 98 w2 9@ 10
I5H HrE 41 feae afE 18 T f5es womEy 38 we 6 9|

Note : g T
1.  This Question Booklet consists of Five Parts :
(i)  First Part : General Mental Eligibility - 30 Marks
(i) Second Part : General Knowledge - 20 Marks
(iif) Third Part : Educational Interest - 30 Marks
(iv) Fourth Part : General Hindi - 10 Marks
(v) Fifth Part : General English - 10 Marks
Each question contains 1 mark. All questions are compulsory.
2 Indicate your answers on the OMR Answer-Sheet provided.
3. No negative marking will be done.
4 Use of any type of calculator or log table and mobile phane is prohibited,
5 While using OMR Answer-Sheet care should be taken so that the OMR Answer-Shegt does
not get torn or spoiled due to folds and wrinkles.
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FIRST PART TH U
General Mental Eligibility AT UHHeR Faar

1. How many squares are (here in the 1. (5 (o3 B foe avf €2
following figure ?

(A) 24 @) o1
. W B 16 (B) 16
HC) 26 (C) 26
(D) None of these (D) =T A HE TG

. 24 Find the missing number in the following 2, 7= snifeper goit o ﬁﬁ‘ﬁ HEAT A1d I |

number series

2, 5 9 7,10, 14, 2 16, 20, 20, 25; 24 e D 01, 20 16, 20, 20025 97,
28 W 28
- (A) 11 (A) 11
(B) 14 : (B) 14
(C) 15 [Q) 13
(D) None of these : (D) 399 & $IE 7l

SPACE FOR ROUGH WORK / T% &4 % fort e
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g, In the following cube 1y, L

are jointed together | form a p

(A) 16
(B) 32

@ 8

.
N

- v

(D) None of these

Ny cubeg 5.
1g cube ?

6. Difference of sums of numbers at 6.

diagonals of the central square is :

1 Al 15 | 11
5 2 13 16
3 6 3 14
10 9 7 4
(Ay 29"
(B) 1
(€ 14

(D) None of these

9120/TF-BT/PP-M

AN

o7

/|
VAl

L —y

g

(A) 16

(B) 32

© 8

(D) TH A FIE Tl

SFCR%:

10 9 7

(A) 29
(B) 1
© 14
(D) =1 & =i 78

‘ . ]

SPACE FOR ROUGH WORK ’mi FE & o e

B

e TA B TR w1 = ) Y Sead
T 98] T A T T 7
Frad a7 % TIH W F GEst & am @

11

16

14

4
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14. Whatwill be the pe

Xtnumber j o [ ' % FA 7
number series ? erin the given 14. < TR oh el sh1 ATl | B 7
s 5, 16, 51, 158, 2

(A) 483

(A) 483
(B) 481 (B) 481
(©) 490 (C) 490
(D) 491 (D) 491

15. Choose the odd one. 15, fim i g
(A) 17 A) 17
(B) 19 (B) 19

S © 21 (@ 21
(D) 23 (D) 23

16. Find the next figure, 16. 3T7Tell fo=t 9 it |

@& 4 = @
® o/ &
© /a0 e o

(D) All of the above - (D) Wi gt
SPACE FOR ROUGH WORK / T% =t % fordt sie
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19. Find the next figure, 19. erTe fo 9 i

9 ojc] | felolel

(A) @ (A) @
(B) @ (B) C:>

20. Find correct answer. 20. W& 3T AT HifaT |

i 2000 (3 T 472 O
17| 83' 19| ? L8 83| 19’ ?

9 4164 9|0 16 9 4 |64 9 | OFWEL6
4 Lo 4.8 4
ORI G of 6
I 4 cah

(B) 1) S
gr =6 g% 16
418 4 8

© ©
9 16 g
4 6 4 ik

o) o [¥]
g T 4 9

SPACE FOR ROUGH WORK / T% &4 & fod sig
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91. IfA B C D have place values like 21. 4< A, B CD, ...

ot 3 4 e then 1, 2.0 8, T ; G|
i !F C’xMIV+Y* A-B+F+CxM-V+Y=
A-B+F~+ = =

@) OR &
(B) 28 (B) 28
© -3 OF S
(D) 5 (DS

22.  Find the missing number in the following 22, 7 s7ifera ot ® farq weam 9 Fiferm |

number series ;

0,2,4,7,16,20,36, _2_, 66,72

m (71

0; 2r 4! 7.!' 16.’ 20!‘ 36; -__?___", 66, 72

! ! (A) 71
B
e (B) 41
(C) 60
() 60

(D) None of these

D
SPACE FOR RoyuGy WORK / T':? ;T:: ;?g =

Set- A
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" 93. Match the figure from the given figure 23, o= =1 faam =ifsc fogd 31 & 9= |
having same number of slant lines 45 in fer Y@t e foraet 1 fefafed fom = 2

the given figure,
o [

X

—(B)

(©)

(D) None of these (D) ¥ & g Tel

24, Identify the wrong number in the series. ~ 24. & 2@l H ¥ Ted S i Jedrt |

18, 51, 150, 487, 1338. 18, 51, 150, 487, 1338.

(A) 18 (A) 18
(B) 51 (B) 51
(C) 487 (C) 487
(D) 1338 (D) 1338

SPACE FOR ROUGH WORK / T &td & ford we
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. v iy dd ® Fw
oo T 25, gfe 7A7, ‘B, 'C ad1 ‘Dl .
25- ifJA.'!'B.«’IC' aI'I.L‘! ’D’ mean AR ,+,,,_;’f+,aﬂ.r;xr Hmaﬁﬂ;bfc; d’

b, G, dr pet! S : L
then ¥ egrg A € 1,2, 8, 4 -, T

- i 1 2; 31 4! LR
have I?ia;;\;a:es;ze-—, a D.x AMRC fBIpIC b=
aDx P =

and ‘%’ respectively and if a,

(A). 22
(A) 22
(B) 20 (B) 20
© 0 (C) 18

(D) ¥7H & FIE TG

(D) None of these

26. el I @ HIC|

26. Find correct answer.

K

] T_az L4 = M b
B D F ? 38 5Df’ ?F :
3 5 7
vy G E 2 e £
By 8 786
| H
(A) () B2
2 24
;% 7 a6
® o ® b
g g
P 7 6
@)l © 2
7 6 7 46
o) © i
G G K
] > __-_-._-.-
SPACE FOR ROUGH WORK / 1% &Td % fordl we
Sef - A '[
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7. If* AIRSTRIKE' is coded as ‘KIRTSRIEA’
then ‘PATHANKOT’ will be coded as - ;

(A) OKNAHTATP
(B) KONAHTATP
() OKNAHTAPT

(D) TOKNHATAP

8. If ‘rat mat lat tat’ is the code of ‘Mohan
is very young'; “tal sat bat fat’ is the code
of ‘Boys may be young’; ‘mat fat bat cat’
is the code of ‘Mohan may be handsome’;
then what is the code of ‘Boys may be
handsome” ?

(A) cat fat rat sat
(B) rat bat mat tat
(C) cat fat bat sat

(D) None of these

27. 4f% ‘AIRSTRIKE' 61 Fews fFan 5 &

28.

'KIRTSRIEA’ ¥, 7 ‘PATHANKOT" &1
HdG e wma :

(A) OKNAHTATP ¥
(B) KONAHTATP.#
(C) OKNAHTAPT ¥

(D) TOKNHATAP #

f¢ “Mohan is very young’ &I F ¢ ‘rat
mat lat tat’; ‘Boys may be young’ sl $Z ®
‘tat sat bat fat’; ‘Mohan may be
handsome’ &I < € ‘mat fat bat cat’ ; T«
‘Boys may be handsome’ 1 e & & ?

(A) ‘cat fat rat sat
(B) rat bat mat tat

(C) cat fat bat sat

(D) ¥ 9 FR T

9120/TE-BT/PP-M [ + 5 Hes

RK / TF @14 & fordt sme
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31.

S

32.

120/ TE-BT / PP-M

SECOND PART

General Knowledge

Which of the following state jg |
terms of population ?

(A)
(B

argest in

Maharashtra

o

Bihar

)

(C) Uttar Pradesh

(D) Madhya Pradesh

Which of the following recommended
that multipurpose schools should be

introduced in the school education
system ?

(A)
(B)

Mudaliar Commission - 1952 - 53.

A:charya Rammurty Committee -
1990.

(©)

National Curriculum Framework -

2005.
(D) . National Policy on Education - 1968.

How many articles are there in the
constitution ?

(A) 395 articles

(B)
©

414 articles
435 articles
(D) 444 articles

31.

32.

33.

fgda W

WA AT

SAEE #wit gfe d | & fE-T 0
g 981 @ 7

(A) z
(B) foem

(C) W YRY
(D) =& gew

He I

frfeafaa # & e 98 fawfe =1 <
foremeri fovan saeen # wgeiyiy famem
IRH fRe 97 =ifew 2

(A) HIfTEAR FHIYH - 1952 - 53
(B) emerd IFHfd FAL - 1990

(C) U Ia=al H1 0@ - 2005

(D) ut firen Afq - 1968
Hfeem d foa o1 g § 2

(A) 395 =T
(B) 414 =<
(C) 435 7=
(D) 44 %

117

SPACE FOR ROUGH WORK / T% &4 & fod sme
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57. Who of the following was the leader of

the Oraon movement in the region of
Chota Nagpur in 1914 - 15 ?

37.

. |

1914 - 15 ¥ BRI AR &5 % 50 34 stider
1 A1 fAefetEs & @ 29 a1 7

(A) Vishnu Bhagat (A) fao v
(8) Koya Bhagat (B) I W
(C) Shyam Bhagat (©) YA W
(D) Jatra Bhagat (D) ST 9T
38, Old folded mountain is : 38. WTE afcrd 9eda €
(A) Aravali (A) ST
(B) Rocky (B) et
(C) Andes (C) Tufvsw
(D) Himalaya (D) femrem
39, Which of the following movement was 39. &4 fafagq Sfseh A fafafaa fFg e
‘nspired by Henry Vivian Derozio ? 1 I IS Fp 2
(A) Young Christian Movement (A) 4 Tl sden
(B) Young Bengal Movement (B) a1 SIS e
(C) Young Protestant Movement (C) T JILWR2 SAjaie
- (D) Yugantar Movement (D) TR TR
40. What State Gross Domestic Product’s ~ 40. ®HETE H feer Fiwdl 9 96 2018 - 19 F
growth rate is estimated for the year fo = % W e TR H A giE W
2018-19 at constant prices in A T &2
Chhattisgarh ?
(A) 7.08% (A) 7.08 W
(B) 6.08% (B) 6.08 Ffawr
(C) 5.08% (C) 5.08 wiawra
(D) 6.58% (D) 6.58 Ffav
SPACE FOR ROUGH WORK / T @ & fd g
9120/ TF-BT /PP-M Set - A
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45. Assessment for |, \Thi
25 Ing i
(A) Provide ral'lkmg .mi‘vll : 45, e % fou smweq @
the class, e studengs (A) TE HE | faenfedi ®1 4o wem w
(B) Create stress amon o { * 3eva 9 foan e &)
(C) Be done only nmt ,“‘ Students, (B) e ferenfefai ® a8 0971 T ¥ |
) € I the whele (C) @& Y Wferh o4 H FHae ww an fa
(D) Improve learning by 5
SR ) Providing (D) & TR e 37 F g
ve feedback. T 1 HarH F ¥
46.  Which of the following is matcheq inthe 46, e o HREA & Hed ¥ fr= § | w2 gafe
context of Head of the House ? 2?2
(1) Speaker of State Legislative () WA faum | =1 T
Assembly.
(i) Chairman of State Legislative () T e g 1w
Council.
(iii) Speaker of Lok Sabha. (i) A W T FHHL
(iv) Chairman of Rajya Sabha. (iv) TF |1 1 w9fa
(A) () (A) @
(B) (@) (1) (B) @) @)
(C) (@), (), (i) (©) () (i), (i)
(D) (i), (ii), (), (iv) (D) (1), (i), (i), (iv)
47. Who can be removed by Impeachment ? 47, ﬂﬁfﬁ?ﬂ’l’ﬂﬁmﬁ?@ AR foE ST el 2
. (i) Trezufd
(i) President e ¥ st
i3 d of Supreme Court (i) ARIGEIE IR
(i) Judges i) I e % =i
(iii) Judges of High Court i |
, . (iv) T Fater s
(iv) Chief Election Comaissioner L@ 0
. B
(n) @ i,ﬂ ®) ) (i
By GaGR 3 L © ) )G
© @ @ @ O @6 6,6
SPACE FOR ROUGH O
21 \ Set - A
9120/ TF-BT/PP-M A
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B 5. 3
mmﬁfﬁwmﬁﬁm

2001 § 2011 F <A
I S i A 5

(A) 1.93 gfaem %
(B) 2.14 gfmym@ B A

(C) 1.64 gfoma /
(D) 1.61 wfava e | \*

(TAdam) 3 @r%‘ﬁw 2000 -
geiten for e 1 Aee & i 2

Learning Without Burden - : (A) ﬁr&ﬂﬁﬂfl %31993

(B)

' & 9120/ TF-BT/ PP-M
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51.

THIRD PART

Educational Interest

What will you do as Principal, if 4 teach i
of the school does not come to a function

of school on time ?

You will ask him to meet you after
the function 1s over.

(A)

(B) You will complain this to the
management committee of the
school.

(C) You will scold him before everyone.

(D) You will tell him about his
responsibilities.

52. . Which of the following attributes would

correctly define learning ?

LY
ST T

(A) Undéf?ﬁﬁgnding, imagination and
workmanship.

(B) Change of behaviour, practice and
experience.

(C) Belief, creativity and endurance.

(D) Intuition, Intelligence and
Memorisation.

ik

52.

uﬁ@ﬁ?ﬁfﬁmm%ﬁﬁnﬂaﬂ"ﬂﬁ
e T e YE € 1 39 faered %y
¥ wq T &9 F1 w7

(A) HEFH I GHIQ F 9y 39 R
J e &1 Fe |

faemera 1 gsua q@fafa &) g9
fyreRrad i |

(B)

() =i F e 3/ e |

39 3% P! SWAdE! & faug |
A |

(D)

freriferd § ® 1 1O SAEH B HE T
T g i © 2 :

(A) SrFEY, Heaierr T HRAGI

(B) oo ¥ IR, A T S

(C) forears, QoM T FERIc
(D) sTeey, SfgHar T TR

SPACE FOR ROUGH WORK / 1% =Td & fordl STE

gﬁhf'rF-BT;PP-M
o
£
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53.

53. Which of the following is not an output g BT e e e feary! E P,
device ?
(A) Printer (A) fiyex
(B) Speaker (B) e
(C) Monitor (C) wFtzx
(D) Keyboard (D)  =T=itg
54. What should a teacher do when  54. U= forerss ) 71 s =nfen =s e e
examinations are near ? &7
(A) Complete the syllabus by calling (A) foenferai =y I =W IR TEaHT
students at his home. ot &1 =nfeu |
(B) Complete the syllabus by devoting (B) faenem ® sAfafeg a9y 2= TEHFH
extra time in school. Eﬂ AT =i |
(C) Ask the students to complete the (C) foenfeldi =t =4 1o wrgasw Iof F0t
syllabus themselves. %l e AR |
(D) Help them solving with important (D) wewqol Uvl I ' HA § A1
questions. HeEdl T A6 |
55. It is said that there are individual 55. e el Sl © foh U weq o faenfed & qeg
differences among students in a class. The SFaferes fafmiand o st &1 98 92 8
fact is :
(A) Great hinderance to teachers in (A) foreo = forarhi *q vk @<t =en 2
teaching.
(B) A suggestion for teachers to be (B) framl & <R frerhi =1 WaYH W@
careful in teaching. ® Uh qAE T |
(©) Purely a historical evidence that is (C) ’{"f?l: Tsh 13ﬁﬁm‘_’F HI & S Rk
outdated today. o sryefad g1
(D) Supported by lazy teachers to fing (D) TR srrert el g/ wwfela i srowt
excuses for their weaknesses. A o feTe HIE s a T Sy
g
SPACE FOR ROUGH WORK / T &Td & fordt w08 e
Set - A
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59." Children of today are under greater 59, N Tw UF Yeject T’E # qer o aAfus
emotional stress than the emotional stress AT Soma o & gy 2
of children a century ago. Why ?
(A) Society today is more complex. (A) 319 &1 gt stf sifeet B
(B) Bonds with members of the family (B)  Wfem & weedi % g wau s
are weakened. R
(C) Schools have not adjusted to (C) T sr=i % fere wwfom 72 ®)
children.
(D) Parents take less interest in (D) et o= W 9 &9 o ¢ |
children.
60. In context of the habit of Absenteeism of  60. faenfefai =71 T ufeafa it 7gq & Tgd # -
student :
(A) The principal and parents should (A) wrEH wa st @ fafa e
get worried. U
(B) The officials of the schools should (B) Toremer STHvmes & 1uR St
take action against them as per F1 37 (%% FHaTE! w1 e |
schools discipline.
(C) The teachers should take it as a (C) forereni <1 38 T iR TvE & w9
serious problem. o =ifeu
(D) They should be given less priority (D)  frafaa fernfeai st qermn o 3= faenfe
in the classroom in relation to <l el o R € W =i
regular students.
61: ' One fundamental principle of motivation ~ 61. a1V <1 ek HEIvd F1E < BT o) i
' which inspires students to work harder TRt A 6 ToTU STRifer iy & i -
is when :
(A) Students set their own goals (A) B I Aeg =Y Fafv=a @ §)
(B) Students follow reasonable goals set (B) O 4 5RI Tatv=a adhaera ey =
by others FTET T
(C) Students know that punishment (©) B 9 © 5 38 geurfed #1
may follow
(D) Students know they will receive (D) ©F SFd € fF o T6HR W S |
rewards
| SPACE FOR ROUGH WORK / 1% &Td % fed =TE
Set - A
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62

63.

N N R e RN o . e S

instruction that see

ks to en;
able
students to achieve 3

Instructiong] obj

g : ectives
by allowing learning time {q v

ary ?
(A) Corrective instruction
(B) Insight learning
(C) Mastery criterion
(D) Mastery learning
You have a class which is very 63.

heterogeneous in height. You should

allow a seating arrangement :

(A) Which is random.

(B) ~ Where smaller students are allowed
to sit in such a way that they can
see and participate easily in class
actively.

(C) Which is purely based on height.

(D) That has taller students on one side

of the class.

of a System of 62.

3a fidy &3 =7 = W & S | o
ST T H fue @ goTeT SR RN
FE7 Y YT H FI FATH HEA € 7

(A) GURTAS few

(B) wigre AfymH
(C) EIel (Mastery) HEIE]

(D) Tl (Mastery) At

9] e faenfdal # 9% ® e ¥
FTH A B 1 319 fohd YR 1 Siowh e
1 argefa < 2

(A) FRFEH

el B2 g & famnell 38 yER faem
Sd fof & wen = afateat B /e
¥ @ | TS HeWITa T §F |

(B)

Ut FEE S gl w9 @ 9 W
s1enfea |

(©)

TH wEe fod Fen & o faene
TEH AT TS |

(D)

SPACE FOR ROUGH WORK / T/ FE & ford se
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is of the l'ughest level] ?

i 67. 'Nl'uﬂ\ uf’ﬂ;ge following cognitive

abilities 6'?;;,”»'“ i

(A) Knowing :
o (A) ST
{B] Understandi_ng (Bf) m
(<) Analysing © favarT ;
(D) Evaluating T ‘_""“;L e
S R

_ What is the most effective way to reform 68, ==} 3 ST W ® U F1
o the aggressive behaviour of a child ? ERIEMICiRicica k8

o Wt _."a.
- i~

Reasons for this behaviour should () mmﬁﬁ%%ﬁmﬁ uﬂg’i‘q
be investigated. ; g by

He should be punished severely. (C} S Fara | Eﬁﬂﬁm mm
] & {EJ} W sEn s qrmy

ﬂ('

.
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; s 70. Taniet % e i st @ A o
70. The best method of checking students s o % I ST
homework is : i
: St 1
(A) To assign it to intelligent students (A) :;W < g fereneff 1
of the class. 1
(B) To check the answers in the class in (B)  wmfeeh w9 § el W ST <k Sii=l il |
group manner. |
(C) To check them with the help of (C) eyt 3w il Wl & S+ FE |
Specimen answer.
(D) To check by the teacher himself in (D) frafa &9 & figE & 57 =4
a regular way. ERGIl
71. A reward that is external to the activity, 71. Uk YR S nfafafy & fou 9w § S
such as recognition or a good grade is TEdH YT1.TE =3 A0, -
called FE & |
(A) An intrinsic incentive (A) A Hiegme
(B) An internal drive state " (B) ATl SRe e
(C) An extrinsic incentive (C) <Rl Wedmed
(D) A primary reinforces (D) WA g
72. Which quality is most important for 72, foenfeat %ﬁm Hﬁff%WEﬂT %
students ?
(A) Hard work (A) whfed aRgH
(B) Obedience (B)  CATTERIGT
(€) Humility (C) Temman
(D) Independent thinking (D) = feae
SPACE FOR ROUGH WORK / 7% =t % fort =g
Set- A 30
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73.

74.

o,

Behaviourists Proposed that to study
learning in an objective, scientific manner

they must focus on two key

things that
can be observed. What are they ?

(A)  Attention and Memory
(B)  Responses and Stimuli
(€) Responses and Behaviourism

(D) Memory and Response

Classroom teachers have which pair of
qualities under their direct control ?

(A)

Incentive and appropriateness of
instruction.

(B) Room temperature and lighting

(C) Student's attention and quality of
mstruction.

(D) Seat time and student’s attention

If the students of your school are not

interested in doing work jointly, then what
will you do ?

(A) All the teachers work jointly before
them.

(B) Tell them about the importance of
working jointly.

(C) Present examples related with it.

(D) Suggest them to read books on this
matter.

73.

74.

75.

SFRRATE! 1 Fud &, T eAferra 1 SR
T TS qi ¥ S w6 e S
@ < ] ST SEYIE €, 3 FE ?

(A) 3aHE qur Hfd
(B) STARHA e SHIH

(C) FfHA a9 ATRIER
(D) TI @ AR

wa7 frerh & I FE g e 39
yeae Fraor § 2t ® 2

(A) wrEd ud Y i SugEa

(B) T ATIHH U YRS

(C) =T U™ qe e = ToEmn

(D) ‘HrR’ ¥9g 9w B sEuN

At s9eh foemers % o e 5
T W He Hed € @ ey w2

() =it Reerh fer-serere i % T
Enpicaoll

(B) fHa-vo w1 T % wew
O | 2

TR HAH ST e
(D) =¥ foua W qees vy =) |

(©
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76. Priority to girl education should be given AR " foram T giegfieran < Sl =iEd,

because : g

(A)  Girls are more intelligent than the (A) anferen 0, =TTl | Sy EIE' T e
boys. €l

(B) The girls are lesser in number than (B) =nfererie,, aershi o HeA H HH i
boys.

(C) The girls were badly discriminated (C) vhret § T I qorl A Sfershiy
in favour of boys in the past. I ¥ AgHTd I IR B o |

(D) Only girls are capable of leading for (D) Fae AfAFT & HFISTR 9k
social change. : A7 F H 98 B |

77. What is a strategy for accommodating 77. oM fafveEm = oEn ey SwWse %1 %

instruction to student differences ? o] TIH T 2

(A) Psychoanalysis (A) TAIfaTeEoy

(B) Student's T distribution (B) BT =1 T faawym

(C) Between, class ability grouping (C) TREN-HEH &FHT T

(D) Administering intelligence tests to (D) eql & 9+t O W wfs whEm 5y
all students in class. wyntad T

78. What are some ways for a teacher tg

78. U faw & fou o U =% Hem

9 i Sfem = wite = 3 o Q
plans ? T & ?

(A) Pictures

include visual imagery in his/her lesson

(A) fm
(B) Maps (B) R
(C) Graph (C) %
(D) All above (D) ST Tt
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79.

80.

A lesson that

appropriate for adolesc
characterized by

1s de

ents woylg be

(A) Using flash cards fo, review

(B)

(©)

(D)

Dyslexia is associated with _

(8)

(B)

(€)

Memorization of fundamenta)g

Steady growth in underst

anding
and capabilities

Repetition of important facts,

Mental disorder

Behavioural disorder

Reading disorder

Writing disorder

‘*’E]meentall}r 79,

T 9IS Sl o1 3 e farspramees gfey
IR, F il e

(A) AT F fou v € 1 s9an
FTT

(B) STIHRYT =i ! Sfemra e

(C) FHH a1 &1 ¥ §aq gfg F

(D) 9@ T %) Srew

Teueifarma T Hefe 3
(A) #ATTEF feopfa
(B) =HAeNIHF foerfa

(©) w1 = fagfi

(D) fo@s =it fagfa

9120/ TF-BT/PP-M
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81.

82.

83.

FOURTH PART/</qel W
T fet

I % fRae YR E 2

‘H A% Har T o€ $el &' 3§ 9 8§
fFrafafae & @ <59 @1 sy 2

(A) |eA™ - STATHE

(B) W - YA

(C) Toram foetoor - vy
(D) fesiwor - STaE

'Y - UF T IR HFE AT ey
el

(A) q9-TW
(B) =X — Wfsfell
(© Sr-gm

(D) faet - g {7

SPACE FOR ROUGH WoRk , 1 %1 & for sie

Set- A

fareranfeatees fag (1) %1 930 8 @ -
(A) 3T ¥ oIS FT oL FEHd w9 °
(B) wer frafy fafysa 7 &

(C) a1 =t gofar T

(D) 9= 31 9Tt 9799 & d

. TS I TS I FHIG FX 24 HI €16 F

A AT FEEd © :

(A) fau =t e @i e

(B) W%Wéﬂﬁﬂﬂﬁﬁ%‘-
(C) ¥ T =g A St s

(D) 7 A Feral, 7 9

‘Afedi A v I T Tm R A= A T
farsredl | T =i gAET= v gfte |

(A) TEfEEHl
(B) 39
(C) TR

(D) SR
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(A) TR FIE ()

. ® shdEm e
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1
LE.
i
i

ose the most appropriate answer :

i [ ..*ﬂ\_‘ |

i e
Choose one word si

s centre of attraction

-y

-y

(A) Centrefugal
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Read the fOIlowing Passage ang
questions 95 . g~ bas

ANSwer the

ed on jt.

has taken Place both 'in my attitude and in the

Psychology of My countrymen-4

Our direct contact with the Jarger world
of men was linkeq up with th

.

€ contemporary
Story of the English people whom wWe came
T

tO'When know in those earlier days. It wag
o H, their mighty literature that we
found ourig

Urideas with regard to the Newcomers

Ove a]] upon the
large—hearted liberalism of

Century English politics,

the Nineteenth

953

96.

ive of a
What helped the Indians to concetV
: ?
notion of the Englishmen ¢

a
(A) Their advanced weaponary
(B) Their literamre

(C) Their orders

(D) Their administration

Who could gain from English literature ?
(A) The educated Indians
(B) All the Indians

(C)  Only writers such as Rabindranath
Tagore

(D) None of the aboye
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In questions 98 - 100, each passaﬂgz
consists of sx sentences. T}?e f%rst (S1) am.id d;e
sixth (S6) are given the beginning. The n‘: i
* four sentences in each have been removed an

d up. These are labelled PQR S. Choose
Je. gwen below every

= dihe coming of the
sparked the need f-.a-
Op'eratejd controls.l i

Health is the most valuable of all
earthly possessions.

The man who does not overeat rises
early in the morning at ease with

himself.

To enjoy good health we should
refrain from excess in eaf

Otherwise we will not get

sound
sleep. i
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b 51 There was a dacoit who used to rob
1 rich people.

g6: He robbed rich people again,

p: Once the Police managed tq capture
him.
Q: He was sent to prison for 10 yearg -
but he managed to escape. i
R: He helped the poo and the Needy
~ from the money so obtained.
’ . == i == _' - p
- S: The court which tried him found : el
o ~ him to be guilty. i k
. #" ..‘k‘ “‘ vl R e TR 1 f
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